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1. Write the equation for the parabola in vertex form
with a vertex (5, 3) and directrix x=7. '
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2. Write the equation for the parabola in vertex form X =%

with a vertex (2,-3) and focus(2,1).
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3. Write the equation for the parabola in vertex form A0
with a focus at (—4,0) and directrix y =—6. 2
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Ben rolls a 1-6 number cube. Find each probability o
4.Benrollsa3 ora4. — 1 o2 o
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5. Ben rolls a number greater than 2 or an even number.

P(»2 or even) = L+ -2 =|5

6. Ben rolls a prime number or an odd number (1 is not prime) bofy\ —
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7. If you are given that a student plays an instrument, what is the probability That the student also
plays a sport?

Plays a Sport :
’ P(sport linstvument)
. Yes No dota \
Plays an Instrument
Yes 47 38 L
No 31 67 = i)
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8. Solve by factoring: 2x* +8x+6=0
Z(x*+4x +3) =0

2(x+3 Y x+1)=o0

X=-3 X =-|
9. Solve by factoring: x* —5x+6=0

(x -3 x~2)=0
X=3 =2

10. Solve by factoring: 4x*> —16x+16=0
3
Y —yx+4)=0

2
Y LX ~ 7_\ ==
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11. Solve by completing the square: x* +18x-15=0
x*+lox+ Bl = |5+ 2|

—

(x +9)*=90 e by
X+9 =+ (5L /\X-—_ﬂtq\mj

12. Solve by completing the square: 2x*> +8x+6=0

2X2+8X = — (o (X_'_?_\z‘_. \
23 dx + 4 V=~ +2( 1)) 42 =t [T = Wy
LAY = X+2=+|

13. Solve using the quadratic formula: x*> +7x+15=0

N= T ZA IO o Rm TNl X=—3 LN |
2(\\ 2 2.

14. Solve using the quadratic formula: 2x* —5x+3=0
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16. Describe the transformations: g(x)= ——;—(x +4)-7 4= Vet ey
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For each function, (a) determine whether the graph opens up or down, (b) find the axis of
symmetry, (¢) find the vertex, (d) find the y-intercept, (¢) graph the function.

17. f(x)=x*—4x+3 opens wp 18. g(x):—x2+2xi opans dowon
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19. Factor 1-9y* < — Di€Cayvanc 2

(‘ — 352\ ( l -+ 332> T :‘SCbqu—( 295

20. Factor 9x* —12x+4 & Perkac {+ Scb\,gw e Trine mic-\

(@x—2)*
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21. Solve 3x* =—48 —> ¥}~ -

X = Tde

22. Find the absolute value [3+4i] — 37 + y* = \f_’i—%— =ls 5
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23. Simplify (=6 +41)+(7-2i) — | 724
24. Simplify (9-4i)-(3+21)) = (o — (4
25. Simplify (5-61) —=2 (5 —:)(5~6)

25. 301 — 30¢ +30bL
15 — O - 36 ——a‘él\ - OV

- : : . -2 ‘
26, Simplify 2X2 . 3+HL 15 +200 4+l £ 3 410k
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28. Write the equation of the circle x* +4y—6x+y’ =-9. Identify the center and the radius and
determine which quadrant(s) the circle would lie in when graphed.

X*- bx + ;L-Ha?’-»(tha—f _i_‘:———ﬁ—-ti-fi
(% -3Y"+ L\U +2) T= Y

| | Centxer (3,-2)
A0 BB D 460811 =2
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